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for the questions.

PART-A (F-9%)

. 1 carries 1 mark-each (any six)

. 2 carries 2 marks each {any five)....... :
. 3 carries 4 marks each (any three).....
. 4 carries 6 marks each (any two) ......

PART-B (¥ -92¢)

5 carries 1 mark each (any six)..........
6 carries 2 marks each (any five) ......
7 carries 4 marks each (any three)....
8 carries 6 marks each (any two)......

The figures in the margin indicate full marks

o 1%6 = 6

Total =40
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PART-A / &-92 / $-¢ / ®-Fem
( Contemporary World Politics)
( Fafa [ Eeife )
( srafis fyaredfe )
( §HET {HIF oy as@n<r)

1. Answer any six from the following questions : 1x6=6
e et i R g5 o Tes frd ¢
=R el @ @@ @ amr Sen @
e WAEwRtT smafesa 99e ' fhe R

M is a member state of ASEAN. (Write Yes/No)
e e oy B e (g )
o afEIER (ASEAN) 757 718, (E/A @)
YR TgAf WEE R o e (ﬁ/mr%f?)

(b} Who can exercise the ‘veto’ power in the'.SéCurify Council ?
feieha sifkaws ‘b’ W (PR AT FIQ AL 2
fRtoRel ARET ‘(SO el (T W TS A ?
ey s e e w7
ich State is the successor of the Soviet Union ?

>/ @fent Tefimm Tl ag @M 2 &
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Fifere Tefuma Saalfeeid arg @G 2
it @afy ITIRYEmi g6l 99 T8 gea?

(d) Which country is regarded as the third alternative centre

of world power ? '

voh few «fer Foga 3 @@ ol (PR 2

eefer e AR fre g WA ared g ST
fe) Write the full form of SAFTA.

SAFTA 3 579}l @olts! fadl |

SAFTA-«ﬂ?I ool el cam n

SAFTA-ﬁ m@m w? |
(f) ‘Which day is celebrated a:s"-United Nations’ day ?
o IR AT et S S T |
@R s a@ﬂ:ﬁ et mvﬁ @?n 77
o WA W T 9 e S |
(g) Write Yes’ o'r"'“‘No’: |

o e T e .

B Geq A’ @A 8
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Technology is an important phenomenon of globalisation.

X/ %ﬁﬁf/ﬁw A @t easgs)d @ «/
fEm R oS swgsed Fe | | |

fS=Tim 9e) Triar gepmeT e |
(h) What is Greenhouse gaé? |

T2ATE (515 far 9
AT o e
et 5’ g @ ?

(i) In which year India successfully tested its first nuclear
bomb ? o

(I AR S0 A ARNINRE ATV FREeTOE T s 2

e aRE ORS 92 A SIS SRl e ST, e ¢

() What is the full form of WTO ?

} /é 3 el ) ﬁf-_? (\/
)/ WTO-93 7o it F 2

WTO-A 41d Herg =i ?
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2. Answer any five from the following questions : 2x5=10

fR=ffe etz #[l frmrar 2eh s Tea e e
f=fERe el (@ @@ 2ok dEa Tea @l g
e SRR safesa aFa fmaa o

(a) Write the theory of UN which defines the indigenOLls people.
REGT GroaRe TS Ageree el A IG! #2|
TR SRR TATE Z@ﬂ\fw (e Al @l
onfirfe TR WHR SerE TSt e gRgel ot
or /A% / @t/ waT
Write short note on-: Sacred groves in India.
55 (B il ¢ olRee fia $67 | 5
| ﬁiﬁ*@ﬁmﬁ'w:@mv{ﬁa%am |
gz fewem for arafy TR g AR
‘Mention any two countries in South of Indtia who are the
members of . SAARC. | |

Graee T e 2l 51 Rla) g e aga W e

(b)

wRren Wi e TafEe SAARC-A (F-(PIA] 7o T A AN

(@Al | |
© oy @ i AEE SAARC fi SmfesTE @Em TRt T g

//ﬂ/ P% . -
/|5‘] | - ‘Contd.
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(c) Write two causes of disintegration of Soviet Union.

(feas Tefimm Afessaia 7oy siad @t 7 /{/
Fifes 38fmm feswarer 76 FRd Tl

Hidq wym @R 2B SR
(d) What is meant by South Asia ?
e afmfEe A
(\ wfee ﬁﬁm.m F @RE?
Qe T S T iR ?

(e) ention two causes for the failure of stable democracy in

. Pakistan. | |
g owr efovi rae AT ko 751 e S
HfZ= eﬁw ef%%r@m@ mfaj@“ﬁwq SR @
QiR TSR g @fﬂmﬁﬁﬁmﬁﬁﬁmml

(f) Write the permanent member nations of Security Council.

ohal #fIare ZrEn Y. 97 (R T fEd | \
o X

\‘\

Wl Al 2 s Agefis ARl @l ~\/)~/

iy TYEf (eRi) T ERE e ERE g R O«
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3. Answer any three from the following questions : 4x3=12

el exiwze o=@ e fofsr esia Sea i 3
fufERe emael (@ @@ foah e 8ea @1l ¢

el QaEERE SafEsra ARamE e for

(a) Write two arguments in favour of and two argﬁments against

Globalisations.
R 7 ¥ e 13 R 1f P
e o W e e e T
Waﬁﬁmﬁﬁﬁaﬁéﬁw@%aﬁﬂm
(b) What is the n‘e'cess_ity of Intérn_atiqnal O'fganisation in the

~world ? Explain its role. |

- fe wa@w\m ey nE ?‘iﬂﬁé—ﬁwémn |
fare Wa@ﬂ RIS é‘ﬁ W? uﬂa.gﬁaﬁ.amm'ml
g AR SR e = A e

(c) ldentify the causes of conflict between India and China

and suggest your solutions.

wmﬁmmﬁmmﬁﬂwf@%wmmﬁw

—

o":_ N
A SNSRIt |




SIS @R T ey fraim fevef e @ @) ot A
guie &3 | '

WM%ﬁﬁa@mﬁWﬁmrq@’mﬂm
UG G B |

Or /a1 et/ o
Write a note on European Union.
TR R somw @ GR Rl|
i@mv‘ﬁa RO ot @b Fiewt (et |-

(d) What is the Balance of PoWeﬁ ? How can a country maintain
this balance ? |

WWW%9QW<@3WWWWW9

Wwﬁvaaﬁa@@@@ﬂmﬁwmmw A= 2
(e) How is the rela'tionshib between indlia and. Nepal ?

SRS TR (oIl SR A R 7

SI6iY) Q]ae AT S (S Flehvl o
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Answer any two from the following questions :

6%x2=12

Creffie exprza Al e by exE $u B g
frsfiie emaf (A @A 70 At Teq (Al ¢
TRER wafEsEn 2 JAEf e fa

(a) What is the stands of India for environmental issues ?

offRal ﬂi@ﬁ@ﬂﬁfméw‘\ﬁw @A 7
e KIS R OrRTeR gl 0

Or/#ﬁ?f/ WQI?T/IQHT' |

What is the relationship between the rights of ‘indigenous

people and environment ? Discuss briefly.

T GIReR SRR R AT ST T R S S
% | | '
i TR S @Tg ARTCR W AE T R

/

tabel Al |

W@qﬁnﬁﬁrmanﬂwmﬁﬁﬁﬁﬁ@@mm?q@vﬁml
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(b) What is Shock Therapy ? Is this the best way for transition.

from socialism to capitalism ?

5 (2T ¢ SGAE 2l (TS ARG $4S GRIB1 9ol O
A A @S ¢

*F (Shock) (A F2 isrEm (A LT #IfRae 3 G
& @b <3 o oy foe

¥ 9UMY (Shock therapy) HI? WWW Trnf-eranefan
(c) What is human secu-ﬁty ? Discuss bﬁéﬂy. g
W I 2 B e |

- )/ A fFierel F12 AT SIS SR |

ﬂ*ﬁ‘i@fﬂ?ﬁm?gﬁmr. R
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PART-B / 2-9i24 / 4-9¢ / @-=gwit
(Politics in India Since Independence )
( SIAAGT e TS ) |
- (reT ©RTeR e )
( SETfErT S sAfT T

Answer any six from the following questions : 1x6=6

FrefRe W o]l freIaT B ee Tl fdl ¢
FsfRe awofi (W @A B0 oCsR Te (IR ¢

S.

Ty it SrEtEsTEn 9ee e e

(aj In which year Bharatlya Janata Party was formed ?

ﬁWWWWWWWP o>go

@w‘ﬁ el #iff PR T 15 R ZAEA?
JRENCE ST mﬁ@*r T HEYEE <A SEHA ?
(b) Which Party won the 1977 General Electlon P
1977 5oR FdfoAe ] T S R ? |
4/ 1977 AieR FAbE @ 7 GHele SEEe? |
1577 e faarrEiE T g 2

(11] Contd.
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(c) Which princely state conducted election on the basis of

Universal Adult Franchise for the first time?

@R ORISR SeEEE Al elears ol Ao ST

fAson wwfere. Tafe ¢
YR T STF COBIRFR Tfea SHdE (Bl (AR A0e
ﬁmmﬁﬁ@aﬁmé@wﬂzﬁ%mﬁwﬁeﬂ

T fearEt e 2
(d) Who was the Prime iMinisfer of India after Pt. Jawarharlal

Nehru ?

TR (AR [2s TRea TR (P e 2

GTTAR (R 2 SRS ARl (S R g
SRS e 3 MRAA e Wiy R SRiEe 2 3
(e) From which year the first Five Year Plan was started s

@GS A3l W oleRRE ARER oE tafe v

i e Al AfRosAl e Trfke s
Ja ArEtwEE fifs 9 el et s s
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'(_/7 What is the full form of'EVM ?
EVM R 377 Feftbl 12l |
EVM-a3 5s)ef @I el |

J .
EVM-f7 o7 Hed 17

(g) - Who was the chief archited of India’s foreign policy ?

oS AT TR 33 2R 9 @ @
| orares R ST I3 erﬁoﬁi wa?«n 2307

Wﬁﬂ@?m@fﬂﬁﬁmﬁﬁmwa@f

(h) When was Slkklm rnerged thh India?

(i  Who was the first non—Colng‘réss Prime Minisiter.of India ?
ST AL TR amﬂf@ (R e ?
CACeR 4T '@—.Zﬁ;\lﬁ' SQTE (T ﬁzram
e i i 7% e T A A
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I

() When was Assam Movement organised on foreigners

issue ?

R s o1 P STl o Telfye TEE?
B TS R SN St wd Tl 2t
ngmﬁ=%w@iaﬂﬁjawma@vmﬁmﬁmxwﬁm=mﬂmmaimﬁﬁm?

6. Answer any five from the following questions : 2x5=10

T ePTRR i ﬁszWm@mﬁﬂt |

(a) Explaiﬁ the concept of ‘whip’. R
225 GRONTHT I 9L =
Whip® &reifs R — |
Wﬁip’ Wﬁl@ WI

(p) lWrite a short no;ce on :V.White Re»voh.,ltion'
59 (G fordl & (F© R |
Afrg Bl (Rl 5 (e ﬁz&x
g fort « T iy
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(¢) On which date draft of the Indian Constitution was signed
and it came into force ?

SRt SiveT R Abare Hwa (3 wlE 3 (e Al
[SEIR |

"I oIty ©iRren MR Weite FrEd Ziale @3k afb I
-cmwﬁ@mﬁ—m

mmwmww(m)mmm
A AAAEE dREAE SRR ?

(d) Méntion two objectives of Nehri’s foreign policy ?
,L)m e AR 75 Yom B
| J//Wwfi’rﬁa 715 Sy s |
/ TEEA T TR ety A e lic 1
(e} Write a note on: NDA SRR R
NDA I €oF® aﬁ% a“:m cil
NDA-9= @mléﬁﬂ% Ol Cﬂml
NDA-F W fercgerm (-
(f/ Why was State'ReOrganisativon' Commission set up ?
2Ty o4 15 S| B et < Tl 2
qrey afFefea el (o9 = TR
(A A3 e B B | S | AL E
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7. Answer any three from the following questions :
FefAfis exiza s frera ofisr e Bea ol 3
Refele emafm @ feaf dra Sea @
TEEH FHPTERMAEE . SEfestan Aemfy fhm f

(a) How did the fourth General Elections in 1967 change the.
dynarmcs of Indian politics ?

©IFed AGIfoT ﬁﬁﬁﬁa—w 1967 7w bgd e e

e =il i
Wzrr@ﬁlﬁr ﬂ?ﬁ?ﬁt&ﬁ 1967 AER v Hme Fma FTeiE
SIfFéT TR ? '

uﬂaﬁwﬁaﬁwm@ 1967 nmmsﬁmwﬁmacm»
T S AEREE?

‘(b] Write four features of India’s coalition governmént.
© ﬂ\g—ﬁmb—@‘@ wﬁﬁmﬁ@ BRI 2
GRS @TET FEIPIEA 57?77‘5’ Zﬁfﬁ@] CETCRT |

\ WA S |t Wﬁﬂ‘ﬁa Wmﬁm
(c) How the problem of Regionalism can be solved ?
Sz ST FRca ST FRA ARy
efreaom TG FeE T = QTS AR ?
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Or /7izal / @%al / war
Give a brief note on Jammu-Kashmir.
GY-IPART @riws «ff (G 74 |
G-I BoitE Lﬂzﬁﬁ siefrd Gl @Al |
ST iR e fergem fo|
(d) What were the causes for mid-term election in 1980 ?
1980 bR TR FRiba ww & f e 2
1980 W AR fFbr el A A e
,1980.mm3ﬁﬁﬁt§ﬁ‘mrqr@ﬁrﬁ RGN | H A ?
Or /%1 /@1 / T | oy
Who announced Twe.nty. Point 'Progra;hme and why ?
@ W‘W“mﬁﬁ el e o R 7
St 7ol TP (& mmwﬁm 93 @7
i 3 < R SRR o T
(e) What is, 'Green Revbluﬁon ?-‘ Discﬁss fhe economic ahd

political outcome of Green Revolution.
e faz & 2 Giow fzdd w1tafes o aaafos Ferme SiEsl

<4l
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8’\% e Re[ F¢ wge. Reran w2twfes Gag qEates wawe b

ﬂﬁ\ Al |
Tyl S w2 e ety e o serEter fREe
{Ed |
8. Answer any two from the following questions : 6x2=12

e exgzs =@ Reenar gt oxia Sea frdl ¢
RS el o gﬁm@@ CTCA ¢
RIEEIE] @Hmtﬁm%{ amﬁawm ﬁﬁﬁ frma for

(a) When - was the Bharatlya Jansangha formed. ? Discuss its

ideologies.

WW\QWWWJWWWWWl
/W—Tﬁﬂw\ﬂﬁ%—mﬁ@ ﬂawwﬁ'ﬁmwmmu
wﬂaﬁﬂmmwmm’fﬁ e SR e
“or Jatzal /@) g

Analyse cpmpara_tively about the nature of Congress

dominance in India.

SIS Y e wS T CERIE Rosae SpsaesTa |
TS AT WifEsre e Vi"“‘lt?ﬁ WW e st
W@FW%WWWWWWW@|
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(b) What are the main considerations of the merger of Princely

(c)

25 / POSC

State with United India ? Who played historical role in it ?

Wﬂ%WWWWWﬁW%WW%
& ¢ 3 Fife @w AR g ot ¢

SIS FIEAE T SIS AR FFEEEE R
A1t @B I Ao o o R ,

WEWWW@WWW@@@W
faferry 1 W2 A SEREE AR e e et ?

What is Foreign Policy ? Explain briefly.
NP v ——
e Mo F2 AT JI I
ag-grf{ @i 11?7 a3 hiAd |
Or /#RA/ W’WT/ Tar

Write a note on non-alignment in India’s foreign policy.

i TS IS e @b (R B

\/BWW?FW S-Sl T @0 DR (eIl

YAt e TSR @i e Tify @ife (Non-alignment) 4
THrg A e
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